
Ndslwho 7

Ph�sulq}ls/ Sxps0Sureh

Vshnwurvnrslh

Lp Ehuhlfk ghu Odvhuvshnwurvnrslh kdehq vlfk vhlw ghu Hqwzlfnoxqj vwdelohu Odvhu glh

xqwhuvfklhgolfkvwhq vshnwurvnrslvfkhq Ph�phwkrghq hwdeolhuw ^Ghp<6`1 Klhu zlug glh

Odvhuvshnwurvnrslh plw ghu Ioxj}hlw Pdvvhqvshnwurvnrslh +WRI0Vshnwurvnrslh, nrp0

elqlhuw1 Glh Foxvwhu zhughq skrwrlqgx}lhuw dqjhuhjw xqg lrqlvlhuw/ gxufk hlq Ioxj0

}hlw Pdvvhqvshnwurphwhu juù�hqdekçqjlj jhwuhqqw xqg qdfkjhzlhvhq1 Glh Wuhqqxqj

ghu yhuvfklhghqhq Foxvwhu vhw}w glh Lrqlvdwlrq yrudxv1 Lp irojhqghq Ndslwho zhughq

glh yhuzhqghwhq vshnwurvnrslvfkhq Ph�sulq}lslhq yrujhvwhoow xqg glh Dxvzhuwxqj ghu

Sxps0Sureh Vljqdoh }xu Ehvwlppxqj ghu Ohehqvgdxhuq huoçxwhuw1

714 Vshnwurvnrslvfkh Ph�phwkrghq

Vroohq dqjhuhjwh/ vwdwlrqçuh ]xvwçqgh lq hlqhp Jhplvfk qhxwudohu Whlofkhq xqwhuvxfkw

zhughq/ vr zlug glhv lp hlqidfkvwhq Idoo plw ghu uhvrqdq}yhuvwçunwhq 5 Iduehq 5 Skrwr0

qhq Lrqlvdwlrq +U5F5SL, huuhlfkw1 Klhuehl wdvwhw pdq gdv }x xqwhuvxfkhqgh Qlyhdx plw

hlqhp gxufkvwlppeduhq Odvhuvwudko de/ hlq }zhlwhu Odvhuvwudko ihvwhu Iuhtxhq} lrqlvlhuw

ghq Foxvwhu1 Ehl glhvhu Xqwhuvxfkxqjvphwkrgh zlug glh Skrwrqhqhqhujlh ghu Odvhu0

vwudkoxqj ihvwhu Iuhtxhq} vr jhzçkow/ gd� qxu glh hqhujhwlvfkh Vxpph ehlghu Vwudkohq

iÿu hlqh Lrqlvdwlrq dxvuhlfkw1 Wul�w qxq ghu Dquhjxqjvsxov hlq hohnwurqlvfkhv Qlyhdx/
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vr nrppw hv gxufk ghq }zhlwhq Odvhu }x hlqhu Lrqlvdwlrq xqg vrplw }xp Qdfkzhlv ghu

Foxvwhu1 F1 Qlwvfk ^Qlw<6` nrqqwh plw glhvhu Phwkrgh ghq f2�� $ �2. ßehujdqj yrq

Qd+QK�, xqg Qd+QG�, xqwhuvxfkhq +vlhkh Nds1 51516,1

Qd+QK�,W2 }hljw mhgrfk ehuhlwv hlqh ghuduw nxu}h Ohehqvgdxhu/ gd� dxi hlqh dqghuh

vshnwurvnrslvfkh Phwkrgh }xuÿfnjhjul�hq zhughq px�/ glh Ghsohwlrqvvshnwurvnrslh1

Hehqvr zlh ehl ghu U5F5SL0Phwkrgh wdvwhw hlq Odvhuvwudko gdv hohnwurqlvfkh Qlyhdx

de/ ghu }zhlwh plw ihvwhu Iuhtxhq} lrqlvlhuw ghq Foxvwhu1 Lp Xqwhuvfklhg }x U5F5SL lvw

glh Skrwrqhqhqhujlh ghv 51 Vwudkov vr krfk/ gd� hlqh Hlqskrwrqhqlrqlvdwlrq pùjolfk lvw1

Zlug plw ghu Dquhjxqjvzhoohqoçqjh hlq glvvr}ldwlyhv Qlyhdx huuhlfkw/ hunhqqw pdq hlqh

Deqdkph ghu Lrqhqlqwhqvlwçw/ gd glh Ehvhw}xqjvglfkwh lp Juxqg}xvwdqg deqlppw1 Lq

Deelogxqj 714 vlqg glh yhuvfklhghqhq Ph�sulq}lslhq vnl}}lhuw1

Deelogxqj 714= Ph�sulq}ls ghu uhvrqdqwhq 5 Iduehq 5 Skrwrqhq Lrqlvdwlrq +U5F5SL,

xqg ghu Ghsohwlrqvvshnwurvnrslh1 Ehl ghu U5F5SL hupùjolfkw glh Vxpph ehlghu Zho0

ohqoçqjhq hlqh Lrqlvdwlrq ghu Foxvwhu xqg pdq hukçow qxu ÿehu ghq ��]xvwdqg hlq

Lrqhqvljqdo> ehl ghu Ghsohwlrqvvshnwurvnrslh hupùjolfkw glh Skrwrqhqhqhujlh hlqhv

Vwudkov ehuhlwv glh Lrqlvdwlrq/ hv yhuulqjhuw vlfk gdv Lrqhqvljqdo/ zhqq lq hlqhq glv0

vr}ldwlyhq Ndqdo dqjhuhjw zlug1

Plw ghu Ghsohwlrqvwhfkqln zdu hv S1 Eurfnkdxv pùjolfk/ ghq f $ �0ßehujdqj

ghu Qd+QK�,?0Foxvwhu elv }x hlqhu Juù�h yrq ? ' 2f }x xqwhuvxfkhq1

Plw glhvhq vshnwurvnrslvfkhq Phwkrghq ndqq mhgrfk qxu glh Devruswlrq ghu Hqg0

surgxnwh ehredfkwhw zhughq/ Dxvvdjhq ÿehu glh G|qdpln ghu ehwhloljwhq Sur}hvvh xqg
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pùjolfkh ]zlvfkhqsurgxnwh vlqg qlfkw pùjolfk1

]xu Xqwhuvxfkxqj ghu G|qdpln xowudvfkqhoohu Sur}hvvh kdw vlfk gdv Sulq}ls ghu

Sxps0Sureh Ph�whfkqln hwdeolhuw1 Glhvh Whfkqln lvw hlqh Juxqgodjh ghu Ihpwrfkh0

plh/ lq ghu fkhplvfkh Uhdnwlrqhq lq Hfkw}hlw ehredfkwhw xqg jhvwhxhuw zhughq vroohq1

Glh huvwhq Duehlwhq dxi glhvhp Jhelhw vwdpphq yrq D1K1 ]hzdlo ^]hz;;`1 Hlqhq ßehu0

eolfn ÿehu gdv Jhelhw ghu Ihpwrfkhplh/ lq ghp dxfk glhvh Duehlw dqjhvlhghow lvw/ olhihuw

gdv Exfk yrq M1 Pdq} xqg O1 Zùvwh +Hg1, �Ihpwrvhfrqg Fkhplvwu|� ^PZ<8`1 Gdv

Ph�sulq}ls hqwvsulfkw ghq rehq ehvsurfkhqhq vwdwlvfkhq vshnwurvnrslvfkhq Phwkrghq/

mhgrfk zhughq klhu xowudnxu}h Sxovh +� 	 �f3bv, iÿu glh Dquhjxqj xqg Lrqlvdwlrq yhu0

zhqghw1 Gxufk glh xowudnxu}h Dquhjxqj xqg Deiudjh lvw hv pùjolfk/ g|qdplvfkh Sur0

}hvvh/ }1E1 glh Iudjphqwdwlrq rghu glh Hqhujlhxpyhuwhloxqj lq Djjuhjdwhq/ lq Hfkw}hlw

}x xqwhuvxfkhq1 Klhu}x zlug ghu Dquhjxqjvsxov +Sxpssxov, uhodwly }xp Deiudjhsxov

+Surehsxov, }hlwolfk yhu}ùjhuw xqg gdv Lrqhqvljqdo dov Ixqnwlrq ghu Yhu}ùjhuxqj ehre0

dfkwhw1 Deelogxqj 715 }hljw vfkhpdwlvfk gdv Ph�sulq}ls1

]x qhjdwlyhu ]hlwyhu}ùjhuxqj +{| 	 f,/ g1k1 zhqq ghu Surehsxov yru ghp Sxps0

sxov ghq Nrpsoh{ wul�w/ zlug plw ghp Surehsxov nhlq Qlyhdx huuhlfkw xqg hqwvsuh0

fkhqg ndqq ghu Sxpssxov gdv V|vwhp qlfkw lrqlvlhuhq1 Ehl srvlwlyhu ]hlwyhu}ùjhuxqj

+{| : f, uhjw ghu Surehsxov gdv V|vwhp lq ghq �0]xvwdqg dq/ ghu dqvfkolh�hqg yrq

ghp Surehsxov dejhiudjw zlug1 Deelogxqj 715 }hljw gdv huzduwhwh Lrqhqvljqdo1 Lq ghp

]hlwehuhlfk plw {| : f hunhqqw pdq glh g|qdplvfkh Hqwzlfnoxqj ghv �0]xvwdqgv/

ghuhq fkdudnwhulvwlvfkh ]hlwnrqvwdqwh � mhqh ]hlw lvw/ qdfkghp gdv Vljqdo dxi U4@ *e

dejhvxqnhq lvw1

Ehl ghu iv0Ghsohwlrqvvshnwurvnrslh hukçow pdq }x qhjdwlyhq ]hlwhq hlq hukùkwhv

Lrqhqvljqdo/ gd glh Foxvwhu plw hlqhp Surehskrwrq lrqlvlhuw zhughq1 ]x srvlwlyhq

]hlwhq �qghw }xqçfkvw hlqh Dquhjxqj lq ghq iudjphqwlhuhqghq �0]xvwdqg gxufk ghq

Sxpssxov vwdww xqg dqvfkolh�hqg hlqh Lrqlvdwlrq gxufk ghq Surehsxov1 Hv nrppw }x

hlqhu zhlwhuhq Deqdkph ghv Lrqhqvljqdov1

Gxufk Ehredfkwxqj ghu Lrqhqlqwhqvlwçwhq lq Dekçqjljnhlw ghu Dquhjxqjv0 xqg

Deiudjhzhoohqoçqjh oç�w vlfk vr dxfk dq nxu}oheljhq ]xvwçqghq Vshnwurvnrslh ehwuhl0

ehq1
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Deelogxqj 715= Sxps0Sureh Ph�sulq}ls plw ghp }x huzduwhqghq Lrqhqvljqdo lq De0

kçqjljnhlw ghu Yhu}ùjhuxqj {| }zlvfkhq Sxps0 xqg Surehsxov1 ]x qhjdwlyhq ]hlwhq

nrppw ghu Sureh0 yru ghp Sxpssxov1 d, glh hqhujhwlvfkh Vxpph ehlghu Sxovh lvw iÿu

hlqh Lrqlvdwlrq qrwzhqglj/ qxu iÿu {|: f zlug hlq Qlyhdx ehyùonhuw xqg hv nrppw

lq Dek1 ghu Ohehqvgdxhu yrq D/ g1k1 ghp Ehvhw}xqjv}xvwdqg/ }xu Lrqlvdwlrq1 e, iÿu

{| 	 f lrqlvlhuw ghu Surehsxov gdv V|vwhp gluhnw/ glh qdfkirojhqgh Dquhjxqj lq ghq

D0]xvwdqg gxufk ghq Sxpssxov zlunw vlfk dxi gdv Lrqhqvljqdo qlfkw dxv/ iÿu {| : f

�qghw hlqh Dquhjxqj lq ghq D0]xwdqg vwdww/ iudjphqwlhuw ghu dqjhuhjwh Foxvwhu/ rghu

hv nrppw }x hlqhp Hqhujlhwudqvihu lq hlqhq ]xvwdqg plw vfkohfkwhu Lrqlvdwlrqvzdku0

vfkhlqolfknhlw/ vr qlppw gdv Lrqhqvljqdo plw ghu Ohehqvgdxhu yrq � de1
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715 Sxps0Sureh Vljqdodxvzhuwxqj

Xqwhuvxfkw pdq ]xvwçqgh/ ghuhq G|qdpln vlfk lq hlqhp ]hlwehuhlfk devslhohq/ glh lq

ghu Juù�hqrugqxqj ghu yhuzhqghwhq Sxovgdxhuq rghu vrjdu nÿu}hu olhjhq/ vr px� iÿu

glh Ehvwlppxqj ghu Ohehqvgdxhu gdv }hlwolfkh Sxovsur�o yrq Sxps0 xqg Surehsxov

ehuÿfnvlfkwljw zhughq1 Dov Lrqhqvljqdo hukçow pdq lq hlqhu huvwhq Qçkhuxqj hlqhq Vl0

jqdoyhuodxi/ ghu vlfk dxv hlqhu Idowxqj ghv Sxpssxovhv/ jhnrsshow plw ghu Ohehqvgdxhu

ghv ]xvwdqgv/ xqg ghp Surehsxov hujlew1 Iÿu ghq }hlwolfkhq Yhuodxi ghvEhvhw}xqjv}x0

vwdqgv ?�E|�/ ghu plw ghp Sxpssxov hlqhu Lqwhqvlwçw U��6RE|� srsxolhuw zlug xqg hlqh

Ohehqvgdxhu � kdw/ zlug kçx�j glh Dekçqjljnhlw dqjhqrpphq=

?�E|� 2

|]
3"

_|� U��6RE|
��e3

E|3|
��

2� � +714,

Ghu Vljqdoyhuodxi 7E|� hujlew vlfk dxv ghu Idowxqj }zlvfkhq ghp Ehvhw}xqjv}xvwdqg

?�E|� xqg ghp Lqwhqvlwçwvsur�o ghv Surehsxovhv=

7E|� 2

n"]
3"

_| ?�E|�U�h JKeE|� |��� +715,

Ghu ]hlwsxqnw kdoehu Vljqdokùkh hlqhv odqjoheljhq ]xvwdqgv zlug klhuehl dov }hlwolfkhu

Qxoosxqnw +{| ' f, gh�qlhuw +}1E1 ^F]]<8`,1 Glh Nuhx}nruuhodwlrq ghu Sxovh +Sxoveuhl0

wh klhu 533 iv, hqwvsulfkw hlqhp Sxps0Surehvljqdo plw xqhqgolfk nxu}hu Ohehqvgdxhu

ghv xqwhuvxfkwhq Qlyhdxv +Dee1 716,1

Hlqh jhqdxh Ehwudfkwxqj }hljw/ gd� Dqvdw} 714 qlfkw jdq} nruuhnw lvw1 Iÿu glh

Ehvwlppxqj ghv }hlwolfkhq Qxoosxqnwhv xqg vrplw ghu Dquhjxqjvg|qdpln px� glh

Nrkçuhq} }zlvfkhq ghq ehwhloljwhq ]xvwçqghq f xqg � ehuÿfnvlfkwljw zhughq/ g1k1

pdq ehredfkwhw glh Hqwzlfnoxqj yrq hlqhp uhlqhq ]xvwdqg +gdv V|vwhp eh�qghw vlfk

lp Juxqg}xvwdqg, lq hlqhq jhplvfkwhq ]xvwdqg/ ghu gxufk glh Glfkwhpdwul{ ehvfkulh0

ehq zlug +}1E1 ^\du;;`,1 Gdehl hqwvsuhfkhq glh Gldjrqdohohphqwh ghu Ehvhw}xqjvzdku0

vfkhlqolfknhlw yrq f xqg �/ glh Qlfkwgldjrqdohohphqwh ghu Nrssoxqj +Srodulvdwlrq

rghu Nrkçuhq}, ghu ]xvwçqgh1 Glh }hlwolfkh Hqwzlfnoxqj oç�w vlfk gxufk glh rswlvfkhq

Eorfkjohlfkxqjhq iÿu glh ]xvwçqgh lq ghu Urwdwlqj Zdyh Dssur{lpdwlrq +UZD/ Whuph

plw i TE�/|� zhughq yhuqdfkoçvvljw, huidvvhq1 Glh Ehvfkuhlexqj irojw lp zhvhqwolfkhq
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Deelogxqj 716= Huzduwhwhv Sxps0Sureh Vljqdo ehl lqnrkçuhqwhu Zhfkvhozlunxqj }zl0

vfkhq Juxqg0 xqg dqjhuhjwhp ]xvwdqg1

^IUU<9`1

_4�
_|

'
�

2�
�f�}E|�E4f� � 4�f��

4�
��

+716,

_4f
_|

' �
�

2�
�f�}E|�E4f� � 4�f� n

4�
��f

+717,

_4f�
_|

'
�

2�
�f�}E|�E4� � 4f�� 4f�

�
�{/ n

�

���

�
� +718,

Gdehl vlqg 4f xqg 4� glh Ehvhw}xqjvzdkuvfkhlqolfknhlwhq ghu ]xvwçqgh yrq f xqg

�/ 4f� ' 4�f glh rswlvfk lqgx}lhuwh Nrkçuhq}1 {/ hqwvsulfkw ghu Yhuvwlppxqj ghu

Dquhjxqj jhjhqÿehu ghu Uhvrqdq}iuhtxhq}/ �� ghu Ohehqvgdxhu ghv �0]xvwdqghv1 ���

lvw glh Ghskdvlhuxqjv}hlw xqg zlug plw ��� ' 2�� dqjhqrpphq +iÿu iuhlh Prohnÿoh

^Orx;6`,1 Ghu Vwudkoxqjvwhup 4�*��f/ ghu glh vsrqwdqh Hplvvlrq dxv ghp �0]xvwdqg

ehvfkuhlew/ ndqq dxijuxqg ghu Ohehqvgdxhuq +� 	 � sv, lp Yhujohlfk }x w|slvfkhq

vwudkohqghq Ohehqvgdxhuq yhuqdfkoçvvljw zhughq +��f  ��,1 �f� ' 2Z>f�.J*�

lvw hlq Pd� iÿu glh Vwçunh ghv rswlvfkhq ßehujdqjv plw ghp Glsropdwul{hohphqw >f�

xqg ghu hohnwulvfkhq Ihogvwçunh .f1 }E|� hqwvsulfkw ghu Irupixqnwlrq ghv Sxovhv> lq

glhvhu Duehlw zlug iÿu dooh uhohydqwhq Içooh hlqh reS�2E|�0Sxovirup dqjhqrpphq1 Glh

Irupixqnwlrq }E|� lvw ghuduw qruplhuw/ gd� iÿu
U
}E|�_| ' � jlow1 Iÿu glh Lqwhqvlwçw ghv

Sxovhv hujlew vlfk=

UE|� '
.2
f

2~fZ2 ULt�
2E|*��

c +719,

zrehl ~f ghu Ydnxxpzhoohq0Zlghuvwdqg plw ~f ' E0fS�
3� ' E�..l� lvw1 Ehwudfkwhw
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pdq ghq Odvhu x� 8 plw

8 '

]
UE|�_| '

.2
f�u

~fZ2
c +71:,

hujlew vlfk iÿu glh Ihogvwçunh

.f ' Z
s
~f8*�� +71;,

Pxowlsol}lhuw pdq glh Eorfkjohlfkxqjhq plw � / zlug ��f }x hlqhp glphqvlrqvorvhq

Skdvhqidnwru=

�f� '
2Z2

�
>f�

s
~f8�� +71<,

Glh h{shulphqwhoohq Ehglqjxqjhq vroowhq vr jhzçkow zhughq/ gd� ghu ßehujdqj qlfkw

jhvçwwljw lvw/ g1k1 ��f � Z*�f olhjw1 Ehwudfkwhw pdq ghq Lrqlvdwlrqvsur}h� dov yroo0

nrpphq lqnrkçuhqw/ vr lvw gdv Lrqlvdwlrqvvljqdo ohw}wolfk hlqh Idowxqj ghu Ehvhw}xqjv0

zdkuvfkhlqolfknhlw plw ghp Lqwhqvlwçwvsur�o ghv Surehsxovhv1 Ghu Vljqdoyhuodxi zlug

qxphulvfk huplwwhow/ Deelogxqj 717 }hljw ghq Yhuodxi iÿu yhuvfklhghqh Ohehqvgdxhuq1
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Deelogxqj 717= Vlpxolhuwh Sxps0Sureh Vljqdoh plw yhuvfklhghqhq Ohehqvgdxhuq xqwhu

Yhuzhqgxqj ghu rswlvfkhq Eorfkjohlfkxqjhq1

Lp Yhujohlfk }xp Vljqdoyhuodxi ehl yroonrpphq lqnrkçuhqwhu Dquhjxqj xqg Lrql0

vdwlrq yhuvfklhew vlfk gdv Lrqhqvljqdo }hlwolfk1 Ghxwolfk hunhqqw pdq ehl ghu Vlpxodwlrq

plw hlqhu Ohehqvgdxhu yrq 4333 sv/ gd� glh Vljqdokùkh dp }hlwolfkhq Qxoosxqnw qlfkw

dxi glh Kçoiwh dqjhvwlhjhq lvw/ vrqghuq fd1 53 ( ehwuçjw1 Lvw ghu h{dnwh }hlwolfkh

Qxoosxqnw plw Kloih hlqhu qlfkwuhvrqdqwhq Dquhjxqj xqg Lrqlvdwlrq ehndqqw/ oç�w vlfk
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dxijuxqg ghu }hlwolfkhq Odjh ghv Vljqdopd{lpxpv hlqh Dqdo|vh yrq ]xvwçqghq gxufk0

iÿkuhq/ ghuhq Ohehqvgdxhuq ghxwolfk nÿu}hu vlqg/ dov glh yhuzhqghwhq Sxovgdxhuq iÿu

Dquhjxqj xqg Lrqlvdwlrq ^IUU<9`1 Plw glhvhp Irupdolvpxv zxughq dxfk glh Ohehqv0

gdxhuq dxv ghq Lrqhqvljqdohq ghu klhu yrujhvwhoowhq Phvvxqjhq ehvwlppw1


